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=~ Response-to-intervention (RTI) is a procedure that is intended to identify students
who are having academic difficulties. Please explain the model of RTL. ( 10% )

What are the benefits and concerns about RTI? (15%)
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I. Vocabulary and Grammar: Choose the best answer. (30%)

1.1 got last year to Supervisor, which was good but meant I had to
move to London.
(A) commuted
(B) exercised
(C) divorced
(D) promoted

2. Traditionally in the Asian culture, taking a is not regarded as a
humiliation.
(A) wish
(B) bow
(C) guess
(D) joke

3. The government has been working on a national plan to take care of
all the elderly since 1993.
(A) independence
(B) combat
(C) pension
(D) discount
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4. The last job I for was in an insurance company but they turned me
down.
(A) built
(B) applied
(C) moved
(D) shaped

5. The bomb threat turned out to be a after policemen search the

building.

(A) adaptation
(B) reputation
(C) flavor

(D) hoax

6. If the bills in five days, the company will seek damages.
(A) weren’t paid
(B) won’t have paid
(C) aren’t paid
(D) don’t pay

7. In most cases, if someone is offended by something you do or say, it is much
better to right away.
(A) apologize
(B) sorry
(C) honest
(D) against

8. for mercy and forgiveness are normal reactions from prisoners
that are executed either by electric chair or shooting.
(A)Imaging
(B)Begging
(C)Eliminating
(D)Attracting
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9. How to remain a successful relationship with the sex has
always been a focus that teenagers care for.
(A)raw
(B)opposite
(C)efficient

(D)various

10. A Malaysian freighter lost power to its main engine and its oil
had devastated the Alsakan coast.
(A) spill
(B) flow
(C) spring
(D) drop

11. Some employees get their paychecks automatically in their bank
account.
(A)deposited
(B)depositing
(C)are deposited
(D)deposit

12. One thing not to on the first date is how many other people

you are dating.
(A) know

(B) accuse

(C) lie

(D) reveal

13. The shambles following this hurricane as nothing when
compared with that of last season’s.
(A)are
(B)is
(C)do
(D)does
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14. She got out two of her red-checked mats and them on the table,
along with soup bowls and spoons.
(A)lay
(B)lain
(O)lie
(D)laid

15. can cause a serious problem, even making life miserable and hard
to go on.
(A)Depress
(B)Depressive
(C)Depression
(D)Depressed
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